The function f(x) is linear.

X |4 X y
X f(x)
_3 8 10 35 15 /
-1 11
1 14 15 6 15| 10
What is the value of f(5)? 25 9 117N e o
F -5 30 | 12
G 3 19 | 16
H 17
J 20
A functional relationship is shown
in this table.
The function f(x) is linear. X 0 1 5 3
x |-10| -5 | 0 5 f(x)| "1 1 3 ?
f(x) -4 | -1 2 5
What is the value of the function
What is the value of f(15) when x is 3?
F 15 H 11
A 3
G 12 J 8
B 4
C 5
The function f(x) is linear. D 6
x |f(x)
-2 -9
1| -5
0 1

What is the value of f(2)?

A 6
B 2
C 3



